

PAGE	CUST	YARD #	INVOICE DATE				
1 of 1	1004542	1718	10/18/2016				
TNVOTCE NUMBER							

92251885

Pratt

(620) 672-1201

B VESS OIL CORPORATION

1 1700 WATERFRONT PKWY BLDG 500

 $_{\mathbf{L}}^{-}$ WICHITA

KS US

67206

o ATTN:

ACCOUNTS PAYABLE

LEASE NAME LOCATION

Earl Suitor 11

COUNTY

Rooks

S STATE

T

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TE	RMS	DUE 1	DATE
40973084	27463				Net -	30 days	11/17,	/2016
			QTY	U of	UNIT	PRICE	INVOICE	AMOUNT
For Service Dates.	: 10/11/2016 to 10	0/11/2016						
0040973084								
47704044440	AND MAIN Cooling/Did	0/11/2016						
171813441A Cemer Cement 5 1/2 Longst	nt-New Well Casing/Pi 1 tring	0/11/2016						
AA2 Cement			150.00	EA		8.16		1,224.00
60/40 POZ			50.00			5.76	8	288.00
A-Con Blend Commo	ND.		235.00			8.64		2,030.40
C-41P	,,,,		29.00			1.92	į.	55.68
Salt			678.00			0.24		162.72
FLA-322			113.00	EA		3.60		406.80
Gilsonite			900.00			0.32		289.44
Mud Flush			500.00	EA		0.72		360.00
Celloflake			59.00	EA		1.78		104.78
Calcium Chloride			663.00	EA	İ	0.50	1	334.15
	Collar, 5 1/2"" (Blue)		1.00	EA		2,160.00		2,160.0
_	ype, 5 1/2"" (Blue) "		1.00	EA		1,344.00		1,344.0
"Turbolizer, 5 1/2""	• •		8.00	EA		52.80	U	422.4
"5 1/2"" Basket (Blue			2.00	EA		139.20		278.4
"Unit Mileage Chg (P			100.00	MI		2.16		,216.0
Heavy Equipment Mil			300.00	MI		3.60		1,080.0
"Proppant & Bulk De	I. Chgs., per ton mil	58	2,025.00	EA	-	1.20		2,430.0
Blending & Mixing Se			435.00	BAG		0.67		292.3
Plug Container Util. (1.00	EA		120.00		120.0
Depth Charge; 3001-			1.00	EA		1,036.80		1,036.8
"Service Supervisor,	first 8 hrs on loc.		1.00	EA		84.01		84.0
PLEASE REMIT	TO: SE	ND OTHER CORRES	PONDENCE TO):	SUB TO		1 2	,719.90

BASIC ENERGY SERVICES, LP
PO BOX 841903
DALLAS, TX 75284-1903
BASIC ENERGY SERVICES, LP
801 CHERRY ST, STE 2100
FORT WORTH, TX 76102

SUB TOTAL TAX 367.92

INVOICE TOTAL

15,087.82



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

1718 13441 A

F	DATE TICKET NO											
DATE OF JOB	NEW OLD PROD INJ WDW CUSTOMER ORDER NO.:											
CUSTOMER V-55 OIL COMOPATION					LEASE LATT SHITET WELL NO. 11							
ADDRESS					COUNTY ROUMS STATE US							
CITY STATE					SERVICE CREW /4 AFTM / FTG y / AM-, E / M ; E, PATES							
AUTHORIZED BY JOB T						CAL	2 5 h	1).V.	Ny 5140	11 -		
EQUIPMENT	# HRS	EQUIPMENT#	HRS	EQL	IIPMENT#	HRS	TRUCK CAL	LED 10-18A	TE AM TII	ME		
7.796	3 45			ARRIVED AT JOB					AM 8	9.2		
10.61	START OPERATION						RATION 10-11	AM 12	1. 12.			
1480	10 15						FINISH OPE	RATION	AM PM	15		
1991	8 .5						RELEASED		AM 5	15		
1 1 1 1	3						MILES FROM	M STATION TO WE	Llus			
products, and/or sup become a part of thi	polies includes al	execute this contract as an ag I of and only those terms and o It the written consent of an offi	conditions app	earing on	the front and bac	k of this do	cument. No addi	ER, OPERATOR, CON	s and/or condition	s shall		
ITEM/PRICE REF. NO.	ľ	MATERIAL, EQUIPMENT	AND SERVI	CES US	ED	UNIT	QUANTITY UNIT PRICE \$ AMOU					
CPIUS	AA-2	105				54	150		2,550	00		
68 101	M. 40	6 blenda				54	2.55		4,250	20		
66100	6440	102				514	50		900	100		
22 1 20	/ _ ELL	7				114	7.9		116	00		
60 105	Call					16	678		337	00		
CEZUL	6,15	unite				115	900		603	03		
166 129	FIA	355				lb	143		847	50		
CC 105	Cell	OFIAM				16	5.9		2 18	130		
CC119	15 ET 10	wer Chloria				10	665		670	2 18		
06/101		was when Till	St.	951	10	PA	-		LI, Sa	01)		
CF (US)	CMT	FALL Shop		- 5	7.	40	1		1 2,800	00		
CF 1651		olize/		5	1/2	CA	8		880	00		
c 1- 1901	605	or .		5	1/2	EM	12		580	00		
							Day 17		med 27 V			
CC 151	14.42	1-14-54				5 77	500		750	(0)		
				_								
								CUP TOTAL		1		
CHEMICAL / ACID DATA:												
			62	SEI	RVICE & EQUI	PMENT	%TA	X ON \$				
	MATERIALS %TAX ON \$											
			-	27				TOTAL	-			

SERVICE REPRESENTATIVE THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

M. We Mattel



UF 2

TREATMENT REPORT

Customer	011 6	1 PO INT	Lease No.			Date	1	1 1 1	A		
Lease E 9			Well #	Well #				10-11-16			
Field Order #			-	Casing	Depth	770.26 Cour	ity Rou	15	State V		
Type Job	5 1	TWO	STAS LUMS	STring	Formation		Legal	Description	105-30 W		
PIPE	E DATA		ORATING DATA	FLUID		TREATMEN	T RESUME	Y.			
Casing Size	Tubing Siz	e Shots/F	t	Acid	154 51	A A -RATE	PRESS	ISIP			
Depth 770	Depth	From	То	Pre Pad	- A	Мах		5 Min.			
Volume	Volume	From	То	Pad	Min		No. 1 Marks to	10 Min.			
Max Press	Max Press		То	Frac		Avg		15 Min.			
Well Connection		ol. From	То			HHP Used		Annulus Pressure			
Plug Depth	Packer De		То	Flush 88	5. 6	Gas Volume		Total Load			
Customer Rep	presentative	0. MI	Station Station	n Manager	cuin Go	110(+y Tr	eater Mil	6 Mat	ral		
Service Units	37586				19889	19918	84	980 198	60		
Driver Names	MATTA		magraw		Pier	(+	E	CHST			
Time	Casing Pressure	Tubing Pressure	Bbls. Pumped	Rate			Service Log				
8.00 m			× 1		on lucarinal SAFKLY MEETING						
9:10	S				Chn	ALIVE N	rsas w	1 1 1			
					THIBU	-/-	29 17 1	1 1	6,50		
(- \				BASKI			V 7001	48		
)	1		- 1			1681.					
10:32	_ {	_/_		>	CSng	1	TTUM		0		
10:45)		- (1	1400				ce w Ri		
12:05	2,000					SPT (614.7		
12:09	350		17	- 5	Pami		Salloni				
12:12	727	-\	3 6	- 5	mix		SKS AF		inse Play		
17:20	900 400 - 1		3	- 4	WASI	2771	t control				
12:25	200		4	6.5	STAX				()		
12:34	700	-	h ri	6	STAIT		0.58/10.				
12:39		-/-	60	6	Slow						
12:41	1500	_	88.6				release	P + h. Ir)		
12:45	1,500		88.0		DING DOWN, releaser + hill						
12.59	1300	-		£.,	DIM D.V. FOOL						
1:10	1,1,2,2					ULAN U					
1 . 10											
								10			
						Y			I 9		
1024	4 NE Hiw	ay 61 • F	P.O. Box 8613	• Pratt, KS	67124-86 ⁻	13 • (620) 67	72-1201 • F	ax (620) (572-5383		



2 OF 2

TREATMENT REPORT

Customer	0	rotto	ATTO Lease No.		H 14 5 7	46-15	Date		Pu Patta		
Lease		rur .	1 111 0 0	The same	50 B			U*	11-16		
Field Order #	Station			Casing	Depth	1	County	, eph	State		
Type Job	v 5	1/2 (ov long	STring .	Formation			Legal	Description		
PIPE	DATA	PERI	FORATING DATA	FLUID USED			TREATMENT RESUME				
Casing Size	Tubing Siz	e Shots/F	t =	Acid	35 SK,	ISIP					
Depth	Depth	From	То	Pre Pad		Max			5 Min.		
Volume	Volume	From	То	Pad		Min	4	tre programme	10 Min.		
Max Press	Max Press	From	То	Frac		Avg			15 Min.		
Well Connection	Annulus V	ol. From	То			HHP Used			Annulus Pressure		
Plug Depth	Packer De	pth From	То	Flush		Gas Volun	ne		Total Load		
Customer Repre	esentative		Station	n Manager			Treater		11 , 11		
Service Units											
Driver Names								, N			
Time	Casing Pressure	Tubing Pressure	Bbls. Pumped	Rate				ervice Log			
3.42	300	1-3	The Trial	6	M1)				A-(01)		
4:03	1 9 1		- 1 - 3 P	4	WASH PUMP + Was / release Play						
186.07	400	_/_		5.5	STAIT DIPPLACEMENT						
E(:1)	500	- (30	3	510~ 1974						
4.15	1,500		40						en + held		
	_				CITCHIATED CEMENT TO PIT						
		/-		7,5	1-10	15 R	4T +	Mous	t hold		
			V V				12	1	and a levinor at the second		
Mi-indica		toric plan				##115					
		1				- 1/1	0013		MPlete		
				-					K You!		
							12				
						74	iko,	3 4 A W	n, ROCKY		
Se . S.					LEASIN	75	T.,	_			
300		2.5%			K -107	37 N	100	AGE Aba			
		1975	a tak i ja fi fa	W/7	NE AND AND AND		night The				
36 8	Kritikales Properti	847.3	(Marines, SA) (II)	16 16 7 10 16 16 16 16 16 16 16 16 16 16 16 16 16 1							
	25.00 m	IV	3.47pt - 1.47pt	1000	Park to	12 P		100			
		We Lite		- 55 L							